


- Fixed poiils of ge6 2 Ay = (xed] 300
— Now, leb's ounl te # necklaces (5%
C? ‘= 2 A et fC_J "3 — (¢ M‘ngs Ra f)--‘;;?m

b Necklace Ve A 4p Nz [D— [c]) T VAT ey,
—\le beﬁu’ng we/& wmu h 4- ///6/<< |A ="

. %o’bj”éfa/ N, '" | h






> #eaeobts W A = ,(%;qu/ =y
— Ja( '

[ Buwide’s lenma /Orbi} —antiig)

;{4__};1___ [ fogyals Ehur'zaa\tcbwj ; #’ ab’)rbh}i I’lﬂcfééace&
a— -1——2 /:-L S 9




- > 7
& [ Z
5/, 3
S
A= 12 ()4S)
A= A3)(44)

3 -1—37(3 +3x3 )

= 110Lf/12_ = 92 KL =6












Hetn: Oy ha’tmé N< G e pe '
o of ols (o, 4) ” cabld i
e quaient  grap o S mad A .




